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Tx(x+1) (x+2) (x+3)=10y(y+1) (y+2)(y+3)"

PIR R Bt 5524 Be . HPK 400715

FE: ZH Pell 5., 3 AFH . R, B B A& KA A5 % — S 50U 5 2, X R 8 O #2
Tx(z+D(x+2)(x+3) =10y (y+ D (y+2) Cy+3) Mgk 4T TAFIT, W AR E B NE E BB (2, )=
(22, 20). ENEWIZZE R, MAREF BRTIE N T Pell FHREMIL. FRHG 8 TI%A & 5 T 0T A B 50 .
BT HEC, 00, (—1, 00, (—2, 00, (—3, 0, (=3, —3), (=2, —3), (—1, —3). (0. —3), (22, —23).,

(—25, —23), (—25, 20).
* & W AEAE; BB BRSP4 M HATS

FE 4SS 0156.2 XEtREML: A XEHS: 1000 -5471(2020)12 - 0005 - 05

wim, n) =1,
mx(xz+D(x+2D)(x+3) =ny(y+D(y+2)(y+3)

PO A 22 5 B R FCGE I e R AW B — RS, ENAME 2% E e T T R R . X
BRCITUEBA T 2 2 Gn, n) = (3, 5) BF, FFFACH IEBEUH (2, y) = (7, 6)5 SCER[2TIE T : 24 Gn, n) =
(1, 34) Bf . HREACHE EBEHM (2, y) = (14, 55 CELATIEM T : K Gm, n) = (1, D B, FEUAIER
Bt (x, y) = (4, 2); XEALI0JEBA T : M Gn, n) = (6, 7) B, ITEAIEERMH (2, v) = (25, 24).

AR SOKUE B AT 4538
EFEB1 KOn, ) = (7,10 B, REFTE
Tx(x+D(x+2)(x+3) =10y(y+D(y+2)(y+3)

A H AU —HIEEF (o, y) = (22, 20).
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[7(* +32x+1)]P—70(y* +3y+1)? =—21
AHAGE «F — 70" =— 21 fA T IE 250 it LU B RS A 284
2.+, /70 =+ T+ /70)(u, +v, /70) =+ (7+ /70)(251+30 /70)"
2y, /70 =t (—T+ /T0)(u, +v, /T0) =+ (=74 /70)(251+30 /70)"
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n e N
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Hep, 74+ /70 & 2> — 70y =— 21 B/ NERER, 251 +30 /70 & Pell TR «® — 700° = 1 fy3LA
fig, T ERBAAES S KM RN, ITURS Ay, = v TREIREQ MFNIZEEU FER.
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2y+3) =4y, +5 (3)
(2y+3) =—4y,+5 €D)

H1 (3D, (4) FORAEHE T 51 6 R 5
Y1 = 5029, — yus vy =1, y, = 461 (5)
oy = 502u, — u, | w =1, u, = 251 6
Upp1 = 5020, — v, v, = 1, vy = 30 7
s, = x0 + 770, = 2u; — 1 Vg, = 2U,V, (8
Vo = u, + 70, 9
Upioy = (— D*u, (mod u,) a0
Upro = (— D%, (mod u,) (1D
Vo = (— D'y, (mod uy) (12)

TTEE’\J@LFM%E%(:%) AMHn=0.1,— 10, H @) ALY n=0 WAz, sy i 7 2 (2)
Y A BB RO . HE— PSRN T AR (1) /Y 42 B B
TE%%@'(S) XA B o BURTELRS 4y, + 5 S 58 4 J7 5L

+ 28v,, +5 ) _ (i 28"(1),;3?— Su, )

na HHK2 ]| n, 18,09 M u, =1(mod 2), u, = 1(mod 4), u, = 1(mod 8), H.
dy,, +5 =4 X Tv,, +du,, +5 = 28v,, + 5(mod u,,)

g3 1 &2|n,n>0,mlj<

Usp

i (9 XA

<i 28;122’:, + 5> ( + 56u,v, + 10u? )7 <ui) <L%”I) <JL 281;”2”—0— Su, ):
(:I )(-0- 28v, + Su, ): <iu272,81,7—§(;v53u,,>:
( iijz ?3:/25+>§32?U ) (i— 28v,,2+ 5u,,)(i— 28v,’,7+ 5u,,>(i— 283}?15%):
+ 28w, + 5u,
( 181 )

51E 2 #) Xr. W a= 0,1, —1(mod 2 100).

iE FAXHPE 4y, +5) B J7 2 E B

$—% JEn=0,1,29(mod 30).

B mod 4 591, HEBE n = 3(mod 5), AT 4y, +5 =4 282(mod 4 591), Fl4 n=0,1,2.4(mod 5).

B mod 11, HEfg n = 2(mod 5), NILHER T n = 17(mod 30); B mod 25 150, HEfE n = 6(mod 10),
HIFHERR T n = 26(mod 30); B mod 61, HEfE n=7,11,13,14,19,20,21,22,23,25,27,28(mod 30); HX
mod 29, Hifgn=5,8.16.19,24(mod 30); Hl mod 89, i n=6,10,12,22(mod 30); Hl mod 404 161, HE
n=2,3,4,9,18(mod 30). LG EF A n=0,1,15,29(mod 30), FFLAFEI 4 n=0,1,15,29,30,31,45,
59(mod 60).

Bt mod 252 001, #EBR n = 7(mod 12), WIHEER T n = 31(mod 60); H mod 59. HEER » = 15,29,
45(mod 60). ZEAE KR A4 n=0,1,30,59(mod 60).

T R R HER: n = 30(mod 60). 4 n = 60r+30. # 2| ¢, W n=6(mod 8); & 2\, N
n= 2(mod 8). H, Bl mod 126 001, JHIE[@an 6(mod 8), ZE &4 n=0,1,59(mod 60).

$=% JFEn=0,1,419(mod 420).

WiRE—%, Hn=0,1,59,119,179,239,299,359,419(mod 420). Ht mod 24 809, HEER n = 3(mod 14),
FHERR T n = 59(mod 420); B mod 727, HEBR n = 9(mod 14), H I HEER T n = 359(mod 420); B
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mod 41, HEBE n=11.35.29(mod 42), HILHEBR T n = 179.119,239(mod 420); B mod 281, Hifk n =
19(mod 140), ILHERR T n = 299(mod 420). FrLALEA KL, F4 n=0,1.419(mod 420).

%=% WFEn=0,1,—1(mod 2 100)

AR =, 5 n=0,1,419,839,1 259,1 679,2 099(mod 2 100). B mod 149, HEF n = 9(mod 50),
HIHER T n=1 259(mod 2 100) ; Bt mod 1 249, HEFR n=19(mod 50), FIHE T n=419(mod 2 100) ;
Bt mod 1 301, HEBR n = 14.4(mod 25) . HILHEEE T n=839.1 679(mod 2 100). FrLALEE ML, o n=
0,1,2 099(mod 2 100), Bl n= 0,1, — 1(mod 2 100).

2 FFR, 18 n=0,1, — 1(mod 2 100).

5|I 3 # n=0(mod 2 100), )ﬂUdZ‘ﬁ n = 0.

E A n=2¢ke3¢5°«72(t=>=1, k= 1(mod 2)), X FF){5u, + 28v,} Bl mod 181 uJ L5 F| %

AT AP FG S 90, X 2° B mod 90, FRARIF A Y 12.
M k= 1(mod 4) B, %
2! t=0,4,7,8,10(mod 12)
J7-2f t=1.2,5,6(mod 12)
5%« 2! t =3,9,11(mod 12)
mY (=1 = 0,1,2,3,4,5,6,7,8,9,10,11(mod 12) B}, m = 46,14,28,20,16,44,88,38,76,20,34,
80(mod 90), XM F 5u, + 28v, = 77,30,123,47,173,128,175,174,112,47,83,179(mod 181), X L%
F mod 181 fy-FJ7 £ Fl 4x.
Mk =—1(mod 4) I}, %

2! 1=0,1,2,3,4,8,9(mod 12)
5.2 t =7,10,11(mod 12)
" 5% « 2 t = 6(mod 12)

13 . 2 t = 5(mod 12)
n2%:(=1=o0,1,2,3,4,5,6,7,8,9,10,11(mod 12) A}, m=46,2,4,8,16,6,70,10,76,62,80,70(mod 90) , X
N A 5u, —28v, = 128,175,57,115,23,141,47,179,30,123,74,47(mod 181). X ¥%¢ K mod 181 fJFJ5
LT 4.

Moo= 0K, 4y, +5 = 3%
I3 4 & n=1(mod 2 100), Y4 n > 1K, 4y, +5 FIEF L
E Wn=14+2ke35" 72t =1, 2%k
i (12) Al
4y, +5 =4y 19.05.520.00 +5=—4y, +5=—1 839(mod u,,)
WEF m Ay 20,57 « 20,3 « 20,7 « 20 P IE A
22| mbBt, w,=1(mod 1), &

4y, +5,_ ,—1839, _ ,—1,,1839\ / u,
(T )7 T )7 () )™ (Ts39)
XF w, B mod 1 839, FFASHI 4 F 5 AW A 204, % 2° B mod 204, [ ¢ = 1 4k, FI4F5E WA 8.
é\

2!
JS . 2
m —

52
572

t = 0,2(mod &)
t=1,3,5,7(mod 8)
t = 6(mod 8

t = 4(mod 8)

m4:(>1)=0,1,2,3.4,5,6,7(mod 8) A, m =52,108,4,24,152,96,116,180(mod 204) , X B u, =
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1633,1 609,820,1 786,1 633,1 609,520,1 786(mod 1 839). X%l mod 1 839 175 Ik Fl 4.

WMo = 1, m=6, u, =1 456(mod 1 839). XtFiA 1 m, i’aﬁ( o )=—1, T 4y, +5 R AE T

1839
. M n=18, 4y, +5= 43" JFITL.
B35S % n=—1(mod 21000, ¥4 n >—1H}, 4y, +5 NEF AL
E Bn=—1+2eke3:5«7:2(=1, 2YVk).
i (12) ZXA] A
4y, +5=4y 155200 +5=—4y |, +5=—159(mod u,,)
Wi m g 2, 5%« 20, 3.2, 7 0 28 PRYAEE A
22| mbBt, wu, =1(mod 4), 8
()= (o)™ () () (59)
Xt w, B mod 159, FFAHI4 5% A 52. %F 2° B mod 52, Bt = 1 4b, FIAFHEH R 12.

A

~
2! t=0,1,7,9,11(mod 12)
JS-Z’ t = 2,8(mod 12)
" 7.2 t =4,10(mod 12)
152 . 2 t =3,5,6(mod 12)

W4 (> 1) = 0,1,2,3,4,5,6,7,8,9,10,11(mod 12) B}, m = 40,28,12,44,8,20,40,24,40,44,44,
20(mod 52), Xt A u, = 85,139,85,31,31,19,85,139,85,31,31,19(mod 159). X% K mod 159 K
FI7 AR R A4

Moo= 1, m=2. u, = 73(mod 159). X} FrA 4 m., i&]?ﬁ(ﬂ):fly T 4y, +5 FAEFE TR 24

159
n=1H#, 4y, +5 = 13" HF %K.

SIE 6 #5(4) Xz, Wa=0, BIQ2y+3)° =—4y, +5 W5, A 2= 0.

iE HmFQy+3) =—4y,+5>0, fiH vy = 502y, — vy, ATH y, > 1, FJE. HY n =00},
— 4y, +5 = 1%, G5 AL,

EE1RIER WMo 2—3 B 5 A, & Qy+3) =4y, +5 7, Wnrn=0,1,—1, Bly=0,—3,
—23,20,5, — 8.

g6 Al A, A2y +3) =— 4y, +5 M. Wa =0, Bl y =0, —3.

PR R] 0 A8 (1) e 12 A8 8. Horb 8 41 V- JLEEEUR . (45 7 B sm Ak  0, BICO, 00, (—1,
0),(—2,0),(—3,00,(—3, —3),(—2, —3),(—1, —3),(0, —3); 4 HIEF 22, 20),(22, —23),
(—25, —23),(—25, 20). Wik, REFE Tx(x+D(@+2)(x+3) =10y(y+ D (y+2)(y+ 3D LHIE
MR (2, y) = (22, 20), JEEE.
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On Diophantine Equation
Tx(x+1D (x+2)(x+3)=10y(y+1) (y+2)(y+3)

ZHAO Lei

School of Mathematics and Statistics, Southwest University . Chongqing 400715, China

Abstract: In the elementary method of Pell’s equation, recurrence sequences, congruent forms, (non-quad-

ratic) quadratic remainders and Jacobian symbols, it shows that the only positive solution of the Diophan-
tine equation 7x(xr+ 1) (x+2)(x+3)=10y(y+ 1D (y+2)(y+3) is (x,y) =(22,20). In the process of
proving this conclusion, we change the Diophantine equation to a form of Pell-equation. We also get all in-
teger solution of the equation: (0,0),(—1,0),(—2,0),(—3,0),(—3,—3),(—2,—3),(—1,—3),(0,
—3),(22,—23),(—25,—23),(—25,20).

Key words: diophantine equation; positive integer solution; recursive sequence; square residue; Jacobian

symbol
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